ERVIERAEH RGeS
B 1B 2H 3H 4H 5H 6H 78 8H

s 1L 39.4 39.9
C CP) .52 1029 -103.8
EEEs . 29
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SEHEE -84 7.7 3.1 3.9 10.1 13.3 15 14
C CP) -16.9 -18.1 264 -39 -50.2 -55.9 -59 572
FHLR R 24.9 2.4 24 5.8 3.3

C ('F)

(-12.8)
47 46 39 49
2K E m
-1.85 -1.81 -1.54 -1.93
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2 14 2H 38 45 58 6H
HHH
R 1971-
R 2000 9.8 10 12,9 18.4 2.7 25.2
(FEECRE)
v N 1961
b 5.2 5.6 8.5 14.1 18.6 21.7
(HEECRE) | 1990
P 1971
KR 2006 2.1 2.4 5.1 10.5 15.1 18.9
(R )
[rk & 1971-
k) T 48.6 60.2| 1145|1303 128 1649
FEr H 1971-
| 2000 4.6 5.8 9.5 10.1 9.6 11.9
SRR
1961-
HE
HEE (/I 1690 5.6 54 53 5.4 5.9 4.1

%)
=
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A
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TH 8 H 9H 108 118 12H
29 30.8 26.8 21.6 16.7 12.3
25.2 27.1 232 17.6 12.6 7.9
22.5 24.2 20.7 15 9.5 4.6
161.5 155.1 208.5 163.1 92.5 39.6
10.4 8.2 11.3 9.1 6.2 3.8
4.4 5.7 3.7 4.2 4.6 5.3
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